Name:

Standard Three
Mathematics Test

1. Write in words:
a) 45, 896 -

b) 3,056 -

2. Write in figures:
a) Three thousand, two hundred and fifty-four -

b) Eighty-six thousand, nine hundred and six -

3. Write in the missing number in the sequence below.
1250 1750 2250 3250

4. Write the numeral that is represented by the base ten blocks below.
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Answer:

5. Write these numbers in ascending order.
4857 3485 4837 3410

6. Complete the numbers sentence below by using > < =
a. 2837 2394

b. 4,596 (2.456 +2140)

7. Write the value of the underline digit

29384-




8. Write in the missing number in the box below

2938 - (2x1000)+ Ox[ ]|) + B3x10)+(8 x 1)

9. What is the place value of the 6 in the number

38639-

10.Approximate to the nearest hundred

a) 3948 -

b)2314 -
11. 22439 1la. 4576
+ 16820 < 1381

12.During a clean-up project, Standard four collected 3,495 glass bottles and
Standard three collected 3982 plastic bottles. How many bottles were
collected altogether?

Answer :

13.Radha is reading a book that has 459 pages. How many pages are yet to be
read if she has already read 398 pages?

Answer:




